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"STC: stress 1000Wine, fitEs 25C , A=FER 15 M Pmpp/Wp  Vmpp/V Impp/A  Voc/V Isc/A
e ™, R 25T , ATRE =1 5% 473 32.83 1439 3930 1520
TEIEETHE (Pmpp / Wp) 445 450 455 460 465 15% 518 32.83 1576 3930 16.65
25% 563 32.83 1713 3930 18.10
FE I{EHE (Vmpp / V) 3265 32.83 3300 3317 33.34
—] 3= N
FFE&EEE (Voc / V) 39.10 3930 39.50 39.70  39.90 TEHERERM (Pmpp) 10.29%)°C
FEREERTE (Isc /A) 1440 1448 1456 1464 14.72 SERETURERE R (Isc) +0.043%/°C
FRER R A3 (Voc -0.24%/°C
At R ERIYE 223% 22.5% 22.8% 23.0% 23.3% - (Vod ]
AR TIERE (NMOT) 42+2°C
WHERE 0~+5W
NMOT: sz 800Wime, REEE 20C , ASEE =15, R 1m/s TEESH
BEIE{EINZE (Pmpp / Wp) 3348 3384 342.0 3457 3493 SARZEE (IEC) 1500Voc
BEIEERE (Vmpp / V) 30.66 30.82 3098 31.14 31.30 ZiREHE 3
s%a 7 P68
FER(ERT (Impp /A) 10.92 1098 11.04 1110 1116 BERRFSA
A BRI LENE R 30A
FEREE (Voc /V) 36.82 37.00 37.18 3736 37.54 y— app—
5ER& B (Isc /A) 1154 1161 1168 11.75 11.82 WEE 80%5%
EBi7 - EB AL (450W) TheR-FaE AL (450W) 16 FBR-FBIEHAL (450W)
16 1000W/m? 500~ 14
14 1000W/m?
12 | soowm: 400- 12
10 o 10| ——ceistemp=25°C
— B600W/m? —300 . s p.
% 8 . E coomime 1= 8 T Cellstemp.=35°C
-E'; 6 | ﬁZOO- 400w w6 T Cellstemp.=45°C
4 | 200w (2 4 - .
1004 200w Cellstemp.=55°C
3 \ 2 T Cellstemp.=65°C
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%%%% N BB L6+L6mm (BEEH/EREIRLE)
g H BUKE (BSEEL) = IS, (eI
- 3 )
%%%% "' 4R EERA (IEC) 4mm?/ 12 AWG
%%%% ORAMEAIHES 5400 Pa (IEE ) / 2400 Pa (T )
A %%%% I EARER (IEC) PV-HYC11xyz(#7£)/MC4 EVO2(FTi)
) AT SRS 21.0kg
i a-pa.3 > > IR :
T c-C - SHEHE36R /T
- SITER 802 ke

EHE (17.5m FARE )1296 31 / &

O BB ENLEF MR, SARMEURER = 1.5 X SR .
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